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The first International Conference on Current Problems in Nuclear Physics and Atomic Energy (NPAE-
Kyiv2006) was held in Kyiv (Ukraine) from May 29 to June 03, 2006. The Conference proceedings of the 
first conference have been published in two parts and also available in the web
http://www.kinr.kiev.ua/NPAE_Kyiv2006/.

The purpose of these Conferences is to bring together scientists to share their knowledge in the current 
problems in nuclear physics and atomic energy.The NPAE-Kyiv2008 conference will cover the 
following topics:

•Collective processes in atomic nuclei 
•Nuclear reactions at low and high energies
•Nuclear structure and decay data 
•Rare nuclear processes, nuclear astrophysics
•Neutron and reactor physics
•Nuclear data and data evaluation
•Problems of atomic energy 
•Applied nuclear physics in medicine and industry
•Experimental facilities and detection techniques 
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14N 3 +X
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